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1 - - 130 += 1.3 130 =+ 06"
2 131 =+ 06 130 =+ 1.0° 131 =+ 05 124 =+ 16"
3 1M1 £ 117 109 = 1.0 109 =+ 1.0 112 =+ 06
4 147 £ 3.1% 142 + 1.0 142 + 15 — *10
5 155 =+ 1.1% 153 += 15 154 =+ 09 154 =+ 06
6 119 =+ 1.1% 118 =+ 09* 118 =+ 097 117 £ 10
7 117 £ 16® 115 =+ 3.1 115 =+ 29* 115 =+ 22"
8 132 += 1.1* 130 += 1.0 130 =+ 09 131 + 06
9 121 + 06 118 = 1.0% 119 =+ 08* 116 =+ 062
10 107 =+ 06* 105 =+ 00 106 =+ 1.0 105 =+ 06
b 554 BB 45 =+ 06 45 =+ 06 46 =+ 06 46 =+ 05
(4B5H8~7H888) (6H278~10817H) (10A4B8~1824H8) 1 A10B8~4817H)
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*x2 BEBEHIZ4B8128~7 8 48TH5, *x§ (R EHMIZ 108 10B~1 A 20 BThHA,
*x3: - BEBEHMIZ48128~7 B85 8TH5, x9 (HEHMIZ1 A16 B~4 B 10 B ThHA,
x4 HEBHMIZ4 11 B~7 B 48THA, *10: REIEDE=HERET,
x5 R EHEIE7B58~10 8 10 BTHS, *11: R EHAMIZ1 A20B8~4 A9 HTHS,
x6: X EHMEIE 7B 48~108 11 BTHS, *x12: R EHAMIZ1 A208~4 A 10 BTH5,
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